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Nowadays, almost any item can be bought and sold on the internet. The problem is shipping. Before an item can be
sent, it must be carefully packaged in a cardboard box to protect it.

While items come in many shapes and sizes, finding a box just the right size can be a problem. If the box is too small,
the item will not fit. If the box is unnecessarily big, shipping cost will be higher, and the item is more likely to move
around inside the box, and it may break.

Cardboard box manufacturers offer a fixed set of standard box sizes. Your task is to find the standard box size with the
smallest volume into which an item will fit.

Each box is a rectangular prism with a given length, width, and height. Each item is also a rectangular prism with a given
length, width, and height. An item may be rotated by multiples of 90 degrees in any direction before being packed into
a box, but when it is packed, its faces must be parallel to the faces of the box. An item will fit into a box as long as its
dimensions are equal to or less than the dimensions of the box.

Input Specification

The first line of input will contain a single integer , , the number of different sizes of boxes available. The
next  lines will contain three integers each, giving the length, width, and height of a box. The following line will contain
a single integer , , the number of items to be packaged. The next  lines will contain three integers
each, giving the length, width, and height of an item. All dimensions will be in millimetres and in the range from 
to .

Output Specification

Output is to consist of  lines, one for each item in the input. For each item, output a line containing a single integer,
the volume (in ) of the smallest box into which the item will fit. The same size of box may be reused for any
number of items. If an item does not fit in any box, print the line: Item does not fit.

Sample Input

Time limit: 2.0s  Memory limit: 256M
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Output for Sample Input

6
24
24
60
Item does not fit.


